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MGC - 15 MELUNETER
s -1
SECTION -1
(3w ) wez € -30, #F-02)

wm -1

;. %m%%a\amamaummmm|

1
Find any four rational numbers between . and 3

4
Xy a+2x+a+2y
2, afz a 2y 8@ S ok acay &1 gra il
Xy . a+2x a+2y
lla-—,-‘Ty,Iundlhevalueoi a-—2x+a—2y‘

A Fie s forn ‘wpem aads @ ey waEel 3 Ak

(a-1°(@+37 (@a-2°@-1" @+ 3)*

Find the HCF and LCM of :

(a-1° (a+3)% (a-2)% (a-1)’ (a+ 3)*

4. wyeal St 19.181.17—2-..... ) TR Teell BT W RAE 8 7

5 S

Which term of the Arithmetic Progression : 19, 18%. 17 % ... isthe first negative term ?
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T - 2
1. 75° o @) WA i s i)

Express 75° angle in radian measure.

2. WF MA T AT 3tk Jdia ATEE F1 303 T4 3 | 38 Wit 61 i w01 )

The volume of a sphere is eight times its surface area. Find the radius of the sphere.

3. af A, B @ C uw gt ABC ¥ sl % 8 ) fira e cot[?.‘*g.‘_“)stan%

i A, B and C are interior angles of a AABC then prove that col [gf—g——A-]= tan %

4. ABC w91 PQR 2l awsN (similar) v 38 wam § B AABC %1 &9%et APQR 3 &%= #1 91
T 8 1 42 y= BC = 18 cm ) 4l yn QR @) @ 3m ffig)

If AABC is similar lo APQR such that area of AABC is four times the area of APQR. i

BC = 18 cm then find the length QR.

" -3
1. (31.65),, %! fisamurdl 3w waid i zakgd)

Express (31.65),, in Binary.

2. (1010), + (0101),, %1 7 I1a Hfere | v @& zImre@ W agaa FIfEe )

Add (1010), + (0101), and express in Decimals.

. — ——

3
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3. 73 567%5m?mgvﬁmmw3mﬁﬁml
Insert 3 geometric means between 7 and 567.
4, ﬁﬁﬂﬁmﬂsm(mmﬁmmmm
4,25,7,9,6,2,5, 14,8,3

Find the median of the following data.
4,25,7,9,6,2,514,8,3

s -4

1. qa:dwﬁm%ﬁmﬁmammmawzo%ﬁm&malm
ﬂm:ﬁaﬁuﬁmﬁa&aﬂmmﬁiﬂ%?

A number is increased by 20 % and then it is decreased by 20 %. Find the increase

or decrease percent.

2. gtz fasdh wen @ 2%%, 42 B, M EEn ara Rfau)
i\ 2%% of a number is 42, find the number.

3. UF WR 25manﬁxm=;zﬁmﬁliaadxtazanﬁm"ﬁwﬁzﬁaufau:a"ﬁma:fm

A car is travelling at 25 metres/second. What speed does this representin kmv/hour ?
&, 10 TEAT 1 3NEE T 123 1R W @ v we 3 ) fga fern =, S aEn HEarE =
shyra WA 3@ R

The average of 10 numbers is 12. It one number ‘3" 15 discarded, lind the average

of the remaining numbers.




W -5

1. fa WA ) gem g

Fill in the missing numbers :

0

18
271 ?
319
2|6

-

it)

(<-4 E7A0 Ko 2}

—_—
Lo2]

2 wh e 3fe
i) R E R
a) g b) erg) c) s
i) ®N | e 3= @ w8 7

a) wEn b) 4@ c) %
Choose the correct alternative :
i) Pen:ink:: Pencil :

a) Knife b) Weod ¢) Lead

il) Which word does not belong to the others ?

a) branch b) leaves c) rool

d) feramd

d) 9

d) Writing

d) water

MGC -15
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3. M%mﬁﬁiﬁﬁwsﬂiﬁmml

a) - L

by waq - 98

¢) TRE - yAd

d) ®r - fw

Find the odd pair of words from the following pair of words.
a) Ganga - Yamuna

b) Jaipur - Chandigarh

¢) Everest - Mountain

d) Hand - Head

4 ®EA - Mﬁ@mmmuuﬁﬁmﬁw%tl

faemd - Mﬁ@mammfmuﬁﬁMﬂ%m
i faeu 9fae)

A) #43 @ Frapd 3wl €

B).mzm?.wg:ma s v Tyl 1l Frven sn weett |

C) =ua waa & we Frad wh 21

D) A) @4t B) a1 Wil 1

1

4 Statement : Probability of getling tail on a throw of a coin, is 2
1
Conclusion : Probability of getting head on a throw of a coin is also 7
Choose correct altematives :

A) Statement and conclusion, both are true.

B) Statement is correct but given conclusion can not be drawn from it.
C) Statement is wrong but conclusion is correct.

D) A) and B) both are correct.




NN ANEE MGC - 15
@WUs - 2
SECTION - 2

(I ) 1=z Hi1-60, HF-04)
Wt - 1

5. d wow) @ 3u = shwa 24 9 R AR = IW 50 6 7 F um A B aw @90 Tl A s
TJATER |

The average age of three boys is 24 years. li their ages are in the proportion 5:6: 7
then find the ages of all the three boys.

6. 48 =izt fm ¥ 0 aq1 oFl 2 - 1 3 a3 W ¥ 1 38 B 3 e wen o e =@ B ae
HTE 12939 7

In a mixture of 48 litres, the ratio of milk and waleris 2 : 1. Find the quantity of water

to be added so that the ratio becomes 1:2 7

T - 2

5. Yig ) fwar i Sard @ s 3 0 4 @ 1 ufR s siaA 324 n €303 9 A e Bdw
e yma ife)

The radius and the height of a right circular cone are in the ratio of 3 : 4. Ii its

volume is 324t cm?3, find its slant height.
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6. uﬁ CO‘SO:% GE

sec@+cosed® _. o s fifwo wei 0 < 0 < 90°

sec O - cosecth

3
TE- n lue of
If cosd 5 ind the value P s

st - 3

5. W 4, 9 @4l 6 fequ mwrat WA,

feftae

Find the Ainhmetic Mean {AM), Geometric

for the numbers 4, € and 6. Also, write the {hree means in descending order.

secO+ where 0< 9 <90°.

3 mmmnmwmmeﬁrﬁmlmﬁwﬁmﬁsﬂ

Mean (GM) and Harmonic Mean (HM}

6. ﬁnﬁmﬁu%ﬁwm-mniﬁﬂmmﬁﬁm&q% :
= e fiw aTw §iEw T AR o dvwd g | A i=%
TR AL Y W a0 17 16 10
i 3y 3 o, G - (FR-NE) T
in a district, the number of branches of different banks is given betow.
Bank State Bank of India Bank of Baroda | Punjab National Bank | Canara Bank
No. of Branches 30 \7 15 10 g
Draw a pie chart for the data.
——
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5, Yfaem ) wlian 3 v w0 F Fafifa) & shea ais 80 # 132 10 < Bl & afaa s
95 a1 20 % fFamfdal & siwa 3% 90 T A 9 Frenfial % siwa 3 T fif)

In a history examination, the average marks of entire class is 80. if average marks
of 10 % of the students Is 95 whereas that of 20 % of the students is 90. What was
the average of the remaining students of the class ?

6. #12 wed, fra F39 3 < 4 0 5 8, F e wnvada 1800 ¥ | 3 @i T weaw waaE
wra B

Three numbers are in the ratio 3 : 4 : S and their LCM is 1800. Find their HCF.
v -5

5 %2 NABMODINT & 3i%idl %) @afedd 0% UF Wal %1 3m 49150 | 30 /% &1 9ge1 9 54 &
e o) Tl

Arrange the letters of the word NABMODINT and form the name of a game. Also, find the
first and the last letters of the word so formed.

6. 25 x9 =144, 7x 8= 1513914 x 6 = 102 ¥), 1 2 x &5 A Fifaqw |
HSx9=144, 7x8= 151 and 4 x 6 = 102, then find 2 x 5.

T - 3
SECTION -3
(I #) 7z w@ha- 100, H5-08)

10

7. 13 3 % 2 T Sa4 w41 982 W AW FAA W AW W) &) AT 14b6 Wt wrav R, A 1Y
¥ fnnferm gvar 811 ) T DR B a + b, 53 Enarfed 8 |

A 3 digit number 5a4 is added to another 3 digit number 982 to produce a 4 digit
number 14b6 which is divisible by 11. Show that a + b is divisible by 5.

—~—— - - —

5 06
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7. mﬂma@mm&mmm-a@&gﬁmmamm@mmm

Prove that the mid-point of the hypolenuse of a right-angled triangle is equidistant from
its verlices.

wet -~ 3

7. sﬁ.m.mwamgﬁwmmm%%mﬁml (Pl 21 alt 1
TEEN )
Write an algorithm 10 {ind area of an equilateral triangle of side 6 cm. (Using any two
methods).

e - 4

7. qa;mmﬁqmmahs‘l.ssoaiiaﬂm6%mﬁuﬁamtlsﬂs%am:aﬁa
F0a % fore, w0 w Read 3 Sl efee o 7

If a car dealer sells a car for Rs. 67,680, he incurs a loss of 6 9. For what amount
should he sell it so as to gain 6 % ?

i argf i
i) A T EaE w5 i )
il) g s vl & ania R
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i) g% faafifal & zafm 8
iv) @ Fgert =t zmiifen R4
A1 22 M Fud ) v s s T
a) Wl wrerll Fdad) fhgs €)
b) wfi G wer & 3@ §)
c) To faenff firrs oft ¥
d) &t wewd =il e @ s 2
e) T fhe yrardt wlad § )
0) %o wed am fheas 5@ §)
0) %0 e Fiadt frenfd +ft )
h)y ot e e @ 3m §)
Observe the figure given.
i) Rectangle represents govi. employees
if) Triangle represents urban people and
iii) Circle represents students
iv) Square respresent teachers.
State ‘True' or ‘False’ for the following gtatements,
a) All govt, employees are teachers.
b) All students are comes from urban.
¢) Some students are teachers too.
d) All govi. employees are comes from urban.
@) Some teachers are govi. employees 100.
f) Some urban people are not teachers.,
9) Some govt. employees are students too.

h) All teachers are comes from urban.

.- 06
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wvE - 4
SECTION -4
(Fae A 7=z Hin-250, 3iF-20)
(s ms i fafim Wi A %@ 03 wva Ry =
Frvaedfi @ 3 @ w02 I 37 )
wm - 1

g 7f ‘b, ‘a' a1 ‘¢’ 1 weaeawi &, @ fag i 6
i ‘b’ is mean proportional between ‘a’ and ‘¢ then ptrove thal

a) abc (a+b+c)’ =(ab+bc+ca)’

a?-b?+¢c?
- = =b*
RPN

a’+b® _a’+ab

- —

. b’+¢? b?+ac

a® +abad’): (0* +bc+c’)=a:c.

i - 3

8. a) Figem §& (vinculum) Frll wed 8 7
i) HHF EEE 289 1 fagem ded i wiaffa fifaw)
ii) feigem @@ 13 F) = e H yiaffa fifae)
What is vinculum number ?

i) Convert general number 289 into vinculum number.
i) Convert vinculum number 13 into general number.

b) ﬁw%ﬁﬂaﬂéfmﬂwaumﬂﬁtmmwﬁmﬁﬁnmm‘léfmﬁml
i) AWz
i) W
Write the contribution of any one of the following Indidnmatmematicians in brief,
i) Aryabhata

it) Brahmagupt’
A2 06
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w -5

8. a) Rrafddi F v wdam 3 a8 faw v fF 75 % Fofd w 93 €, 65 % frenfd 30 9
qaiz w3 | & Frenfdal @ wfawm 3w A A0 G vde #a § )

A students survey shows that 75 % students like drinking juice and 65 % stedents
like drinking milk. What is the percentage of studenis who like both-the drinks 7

b) w W ¥ Tza W 8 Wil @ 8 v 0 €1 o woiw vea w e et wf 5 7
A chess board has 8 rows and 8 columns. Find the total number of squares in the

chess board.
wuvg -5
SECTION -5
(3 it W= diwi-500, 3&-40)
(3@ oz # fafim wmit | F@ 02 wew Ry = |
arequft el g | wr$ 01 I & §h)
W -2

7/
x"\ /

A i sl v virem ) R Rl sgye we o gaEen 8, e 100 moagn e
28 m ¥ | 3 fifa)
i) Mem w1 wiafe g Sawa (snan faE)

i) 150 5. wfa m2 ) 20 A sk Aol g2 W i wod w1 wd)
fil) *Tvem = Sa [n- ?}gﬁm]

8. a)

In the given figure, there is a godown of semicircular cross section 100 m long and
28 m wide, Find

i) The inner surface area of godown (including base).
if) The cost of painting its inner surface at the rate of Rs. 150 per m2.

iii) Volume of godown (Take _2_73_]

——2

13- 06
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b) uw Fngn ABC st il BC = 6 cm, AB = 5 cm 3iit ZABC = 60° B | 31a 0% %3

g o) e B G w4 ABC3E) w el ) 3 1t 911 v g

fored )

Draw a AABC with BC = 6 cm, AB = 5 cm and 2 ABC = 60°. Then construct

3
another triangle whose sides are a of the corresponding sides of AABC, Also,

write the stepé of construction.

s -4

8. a) ﬁqaﬁﬁﬁmﬁmmmwwﬂmmﬂ&m

@mtmqa%mimmmﬁmé%ﬁm@zﬁ

wfa fa N wRmA W w1 -5(6 - 10

11-15]16 - 20

21

" 25 | 26 - 30 |wé wa T St

wgfandl ) wem 70 | 60

25

10

150

gl Y W 40 40

45

10

140

%) nm@ﬁzxﬁthwm«ﬁaml

@) et wfama ergfedl 3 w2a 9 7

n) e BT fa wlwma ot 3 w2 2

q) w1 o A i sﬁ%ﬁémﬁ%ﬁﬁmm&ﬁmum,mﬁ%m

QA wfs g u ?

%) wowd # @, iR 6 Wit @ @m Werrawh agfea # } 30 =gl AT -3
mﬁﬁﬁmmﬂmmﬁ‘é,ﬁmﬁuﬁmmﬁ?ﬂﬁ 60 ER TEU NS 7
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